
1-8 88 75 63 50 38 25 13 0

Bsp) Which choice (or choices) best shows 5?
A. 1 + 4 B. 0 + 3 C. 3 + 2

1) Which choice (or choices) best shows 4?
A. 1 + 3 B. 3 + 5 C. 3 + 1

2) Which choice (or choices) best shows 9?
A. 1 + 6 B. 5 + 4 C. 3 + 6

3) Which choice (or choices) best shows 7?
A. 4 + 3 B. 4 + 4 C. 7 + 1

4) Which choice (or choices) best shows 8?
A. 1 + 7 B. 3 + 3 C. 2 + 4

5) Which choice (or choices) best shows 6?
A. 6 + 4 B. 3 + 7 C. 5 + 1

6) Which choice (or choices) best shows 10?
A. 1 + 1 B. 2 + 0 C. 5 + 5

7) Which choice (or choices) best shows 3?
A. 1 + 2 B. 7 + 2 C. 2 + 7

8) Which choice (or choices) best shows 2?
A. 0 + 2 B. 1 + 1 C. 2 + 0

Bsp. A ,C

1. A ,C

2. B ,C

3. A

4. A

5. C

6. C

7. A

8. A ,B ,C

     

Finde heraus, welcher Buchstabe (oder Buchstaben) die Frage beantworten.

Was ist gleich?
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